ANGLAIS 11 15G33A01
Séries : S1-S1A-S2-S2A-S4-S5

Epreuve du 1° groupe

ANSWER KEY

I. Looking for information

1. Erosion

2. Loss of topsall

3. Infertility
Il. Reordering ideas

4. C

5 A

6. B
[lI.True of False sentences

7. True : justification | 2-3 : Not many of us would deny that cars, airplanes, trucks ........... to

global warming.
8. False : Justification | 14-15 : When forests are cleared on a large scale, It radically
disturbs the health of soil, and air, with a worldwide negative impact.

IV.  What do these figures refer to ?

9. 18 % : amount of world total carbon dioxide that the animal food industry generates
10.37 % : percentage of all human- induced methane

V.Vocabulary in context

11.deny
12.lessening
13.dead end

14.a loss of topsoil

VI. Dialogue completion
15.isn’t it
16.What can be its causes or what can bring it about ?
17.to eradicate this phenomenon / Any relevant answer can be accepted

18.if environmentalists sensitize people on the consequences / Any relevant answer can be
accepted.

VIl.  Word formation

19.The consumption
20. satisfactory

21.healing
22.planting
VIIl.  Preposition

23.by

24.about/on
WRITING
1. Topic understanding 1 mark
2. Coherence and cohesion 1 mark
3. Language accuracy 1 mark
4, Contents 1 mark
5. Presentation 1 mark



